Technomad AS Series Wall Mount Bracket

WARNING: Mounting and/or suspension of loudspeakers should be done by ex-
perienced professionals. The improper installation of a loudspeaker can result in
property damage, personal injury and/or liability to the installing contractor.
Proper installation of this bracket is the responsibility of the person installing it.

The following Technomad loudspeakers can be mounted with the AS Series Wall Mount Bracket:
Noho - Soho - Berlin « Cairo - Chicago

Speakers can be mounted either in a vertical or horizontal orientation with this bracket. The bracket
offers a fixed set of tilt and pan positions for optimum rigidity even under wind load. Note that not all
positions can be used depending on speaker orientation. For example, the downward tilt of the Berlin
in a vertical orientation will be limited by the Berlin cabinet hitting the mounting wall.

Technomad recommends the use of an additional safety cable with the bracket.

Included Hardware:
Ultra-corrosion resistant Grade 8 bolts, 3/8-16 x 6” (2 pieces)
Ultra-corrosion resistant Grade 8 bolts, 3/8-16 x 1” (4 pieces)
Ultra-corrosion resistant Grade 8 nuts, 3/8-16 (6 pieces)
Galvanized washer, 3/8” (12 pieces)
Lock washer, 3/8” (6 pieces)

Assembly Details: . o
The bracket consists of three main elements- the wall plate, the junction and the speaker plate.

The wall plate is connected to the junction with the two 6” bolts. The single hole for the pivot bolt
should be installed first. Washers and lock washers should be used on every bolt. With the pivot bolt
mounted, the installer can set the speaker to the desired tilt angle and then install the second bolt
through the slotted angle position hole to lock in the speaker position.

The speaker plate is attached to the junction with 4x 3/8-16 x 1” bolts. Two are used for the pivot
points and the other two are used to lock in the pan position of the bracket.

Pivot point - 1” bolt Pivot point - 6” bolt Speaker Plate
(top and bottom)

—— \
é—:==_i"_ \'\}/ / o
4 -/// % Wall Plate

7 \lli : //
& 7 @ |::IG; % ,
0="1\
== \>\ [ﬂ 2
\._ . gj
Pan Lock - 1” bolt \U Q////,

(top and bottom) Tilt Lock - 6” bolt

5 Tina Drive South Deerfield MA 01373 USA

B
TeChnomad Telephone: 800.464.7757 Fax: 617.424.8233

1T [ g ST LR RN Email: sales@technomad.com Web: http:/www.technomad.com



mailto:rvk@technomad.com
mailto:rvk@technomad.com

